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import sys
sys.path.append("statlib")
from survival import ridit_analysis
ridit_analysis(na, nb, combine=Falsem, verbose=True)
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na=[4, 11, 14, 3]
nb=[6, 13, 9, 1]

import sys
sys.path.append("statlib")
from survival import ridit_analysis

a = ridit_analysis(na, nb)

Ridit analysis(set first group as a reference)
Z value = 2.0102, p value = 0.04441, estimate = 0.39224
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k1 [160, 43, 122, 66]
k2 [12, 25, 53, 15]
a = ridit_analysis(kl, k2, combine = True)

Ridit analysis(set pooled groups as a reference)
Z value = 3.0942, p value = 0.00197, ridit a = 0.53170, ridit b = 0.42725



